WALT: | can reason about multiplication

o Ron, Eva and Mo each have 23 marbles.

105][105] | o5 s
[105](105] | e s
105][108] | s s s

One toaster costs £32

How much do 3 toasters cost?

Read the Pictures
Use the picture and the grid to answer 23 x 3:
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Read the Pictures
Use the picture and the grid to answer 24 x 4.
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Whitney has multiplied a 2-digit number by a 1-digit number.

I had to do

30 + 9 =39 to get
my answer.

What numbers is Whitney multiplying?

Fill in the missing digits.

Explain the Mistakes

Mistake A: 9 4
| 40 | 2 +12
6| 24 |12 36




